03569 % 93560030¢00l LHbgEPMBOL MdOEOLOL Lobgdfoxzm MbogzgmLoEgEo

3m056©oL M0 338EHoMm0 3Me0dgMgdoliscmgzols

dobgo 3030830¢00, Lombsmo, 2016



2533oM0 3M0dgmH 900

305(©OL IMI0 3M0939E09bols 3merodgevIeo dmegierolismgols

[C2H2]n



d
qb
916
ol dm
&
JC
0

//C
H;C\ o
3
HIC\ o
)
HIC\ o
)
Hi..........C\ o
)
HlC\ o
\




H|C\

//C
H|C\ -
\
H|C\ o
\
H|C\ -
\
H|C\ |H
\
H|C\ o
N

\\ —

Alre)=4

A(X)



3056 @0L 3530 EMbosbo dFoeOH™
ddoloom3z0L

A(X)= A e)=A,
T 00
H= Y uBjA,+vAl B, +hec

Nn——0o0



3530 EMbosbob
QO0QMBITODHSOF0S

/ A(k)e™ T dk = / Ak dk
BZ BZ

/ B(k)e™tdk = / B(k)e™' " dk
BZ BZ

T = nl



+0o0 + o0
Y BiA,= > / BT (k)e~*mqj / A(K)e® gl =
= — oY BZ B7

:/ BT (k) A(k)dk
BZ
+o00 |
> ALHBH_/ AY(E)B(k)e ™k
BZ

n=—oo



+-00
H= Y uBlA,+vAl By+hc=

N—=——0oo

_ / [(uATB +vATBe ™ 4 uBTA + vBTAekt| =
BZ

BZ






3063990 33953 30L
3590EHMbosbo

H = UTHUIK
J BZ



9696039030 L3gdEBHMo

det(H — =) = 0

T -\/'n.2 + 0% + 2uvcos(kl)



9696039030 L3gdEBHMo

e = ++\/u2 + v2 + 2uvcos(kl)

u < v u > v u =1

25

1581

05F

N5F

1A F

2.5

1581

05F

05F




3590 EHMbosbols 35ols
do303900m HoMTMOPIbS

7 0 u + pe ikl B
o u + vetk 0 N

0 u + veos(kl) — ivsin(kl)
u + veos(kl) + wsin(kl) 0



H=h,o,+ h‘y‘jy —

= |u + vcos(kl)|o, + USm(]d)Uy

—

h = (hﬂi?* h’lf)












235 MO0 41MHo©9doLsm30Ls



